FHTEI0AT TRIFEERITRE
AR X% NE X H(E)

1 1073 =& |(ZEmEAKEEEDRIIREERRRS 6,000
2 10/5| =& |REFHTILBERFHITEORRR 5,000
3 10/17| =& |“HEREH 7,557
4 10/19] =& [ESARY 5,000
5 10/20) =& [(CEATHES 5,000
6 10/20) =% |LEBEMREZEEERERX 5,000
7 10/23)] =& |HEOELZEZEALERR 5,000
8 10/25| Z0fth |LESK (10/102FE5HRHF) 4,600
9 | 10726 £=& |FNBALBRFIISAFLEINES 8,000
10 | 10/27| #EB |[HB10EIAELYAV)LO—FEIL# 5,000
11 ] 10/27] RE |ER#BISVRABESELRESLOBHES 3,500
12 | 10/27) =& [dR#HER 5,000
13 | 10/27] =& [FARMRHEES 5,000
14 | 10/27] =& |[BsREER 5,000
15 | 10/27] =& |MEAXHFHEHES 5,000

a &t 79,657




